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ZmoQ >… g^r àíZ hb H$s{OE&
Note : Attempt all questions.

BH$mB©-I/Unit-I

Q.1. a) ‘mZbmo � �: , �f a b R , � �,a b  na EH$ n[a~Õ ’$bZ h¢& V~ ,f R- g‘mH$bZr¶ h¡ ¶{X Am¡a Ho$db

¶{X àË¶oH$ 0��  Ho$ {bE � �,a b  Ho$ EH$ {d^mOZ P H$m ApñVËd Bg àH$ma h¢ {H$

� � � �, ,	 
�U p f L p f

AW{V Xmobm¶‘mZ ¶moJ � �, 
�w p t .

Let � �: , �f a b R  be a bounded function on � �,a b . Then � �,�f R a b  if and only if

for every 0�� , there exists a partition. P of � �,a b  such that � � � �, ,	 
�U p f L p f

i.e. the oscillatory sum � �, 
�w p t .

b) {gÕ H$s{OE {H$ n[a‘o¶ g§»¶mAm| H$m g‘wƒ¶ Q nyU© H«${‘V joÌ Zht h¢&
Prove that the set of rational numbers Q is not order complete field. 26/30

BH$mB©-II/Unit-II
Q.2. a) {ZåZ{b{IV ì¶§OH$m| Ho$ gabrH¥$V n[anW Ir{ME

Draw a simplified circuit of the expression

i) � �, , � � �� 
 
 � 
 
 � 
 
F x y z x y z x y z x y z

ii) � � � �, , � �� 
 
 � � 
F x y z x y z z y x
b) OmbH$ H$s n[a^mfm {b{IE& {gÕ H$s{OE {H$ {H$gr OmbH$ H$m Û¡V ^r EH$ OmbH$ hmoVm h¢&

Define Lattice. Prove that the dual of a Lattice is also lattice. 26/30
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BH$mB©-III/Unit-III
Q.3. a) {gÕ H$amo {H$ EH$ Amdog ‘| {df‘²KmV Ho$ erf© ({df‘ erf©) gX¡d g‘g§»¶m ‘| hmoVo h¢&

Prove that the vertices of odd degree (odd vertices) in a graph is always even.

b) ¶{X E1 Am¡a E2 H$moB© Xmo KQ>Zm¶| h¢, V~ KQ>Zm (E1 Am¡a E2) Ho$ KQ>Zo H$s àm{¶H$Vm

� � � � � � � �1 2 1 2 1 2� � � 	 �P E E P E P E P E E

If E1 and E2 are any two events, then  � � � � � � � �1 2 1 2 1 2� � � 	 �P E E P E P E P E E .

25/30

BH$mB©-IV/Unit-IV
Q.4. a) A,B Am¡a C EH$ bú¶ H$mo ̂ oXZ| Ho$ {bE {ZemZm bJmVo h¡, A, 5 ‘| go 3, B 5 ‘| go 2 VWm C, 4 ‘| go

3 {ZemZo bJmVo h¢& {ZåZ{b{IV KQ>ZmAm| H$s àm{¶H$Vm kmV H$s{OE&
i) CZ‘| go R>rH$ Xmo {ZemZm bJmVo h¢
ii) H$‘ go H$‘ Xmo {ZemZm bJmVo h¢
A,B and C try to hit a target. A can hit the target 3 times in 5 shots, B 2 times in

5 shots, C 3 times in 4 shots. Find the probabilities of the following events.

i) Two of them hit

ii) Two at least hit

b) {gÕ H$s{OE {H$ Xmo Mam| Ho$ ¶moJ H$s àË¶mem CZH$s àË¶memAm| Ho$ ¶moJ Ho$ ~am~a hmoVr h¢
Prove that the expectation of the sum of two variables is equal to the sum of their

expectations. 25/30

BH$mB©-V/Unit-V
Q.5. a) CPU Ho$ {d{^Þ H$m¶m] H$mo g‘PmBE&

Explain various function of CPU.

b) Am°naoqQ>J {gñQ>‘ Ho$ CØd H$mo g‘PmBE&
Explain the evolution of operating system. 25/30




